
C B C B 9.83
(Could be several 
correct answers) 

B D D A 6.14
(Could be several 
correct answers) 

A B B D 8.15
(Could be several 
correct answers) 

C B C B 2.94
(Could be several 
correct answers) 

C A D B 2.01
(Could be several 
correct answers) 

3.4.C - value of a collection of money
Problem Set: 1

1. 2. 3. 4. 5. 6.

7. 8. 9. 10. 11. 12.

13. 14. 15. 16. 17. 18.

19. 20. 21. 22. 23. 24.

25. 26. 27. 28. 29. 30.





1. Owen received the coins and bills shown when he sold lemonade. 

What is the value of the coins and bills Owen received? 

A. $8.85

B. $9.00

C. $9.10

D. $8.90 

3.4.C - value of a collection of money - PS



2. Dana used the money shown to buy a snack. 

What amount of money did Dana use to buy the snack? 

A. $1.37

B. $1.32

C. $1.40

D. $1.27

3.4.C - value of a collection of money - PS



3. Inez did laundry.  She found $6.47 n the pocket of her dad’s pants.  Which of the following could NOT represent the 
amount of money Inez found? 

A. 

B. 

C. 

D. 

3.4.C - value of a collection of money - PS



4. Charlie emptied his piggy bank and counted $5.63 in savings.  Which set of bills and coins could NOT be the total amount 
of money that was in Charlie’s piggy? 

A. 

B. 

C. 

D. 

3.4.C - value of a collection of money - PS



5. What amount of money is this? 

3.4.C - value of a collection of money - PS



6. Joe wants to buy a lunch that costs 6.89.  Circle the coins and bills he needs to pay exactly this 
amount. 

3.4.C - value of a collection of money - PS



C B C B 9.83
(Could be several 
correct answers) 

B D D A 6.14
(Could be several 
correct answers) 

A B B D 8.15
(Could be several 
correct answers) 

C B C B 2.94
(Could be several 
correct answers) 

C A D B 2.01
(Could be several 
correct answers) 

3.4.C - value of a collection of money
Problem Set: 2

1. 2. 3. 4. 5. 6.

7. 8. 9. 10. 11. 12.

13. 14. 15. 16. 17. 18.

19. 20. 21. 22. 23. 24.

25. 26. 27. 28. 29. 30.





3.4.C - value of a collection of money - PS

7. Oliver found the coins below in the pocket of his blue jeans. 

What is the value of these coins? 

A. $1.78

B. $1.57

C. $1.38

D. $0.98



8. Thomas used the money shown to buy a snack. 

What amount of money did Thomas use to buy the snack? 
A. $6.90

B. $2.75

C. $2.85

D. $2.90

3.4.C - value of a collection of money - PS



9. Tisha cleaned out her purse.  She found $5.24 in the bottom of her purse. Which of the following could NOT represent the 
amount of money Melanie found? 

A. 

B. 

C. 

D. 

3.4.C - value of a collection of money - PS



10. AnaLisa emptied her piggy bank and counted $7.45 in savings.  Which set of bills and coins could NOT be the total 
amount of money that was in AnaLisa’s piggy? 

A.

B. 

C. 

D. 

3.4.C - value of a collection of money - PS



3.4.C - value of a collection of money - PS

11. What amount of money is this? 



12. Jordy wants to buy a snack that costs $1.53.  Circle the bills and coins she needs to pay that 
exact amount. 

3.4.C - value of a collection of money - PS



C B C B 9.83
(Could be several 
correct answers) 

B D D A 6.14
(Could be several 
correct answers) 

A B B D 8.15
(Could be several 
correct answers) 

C B C B 2.94
(Could be several 
correct answers) 

C A D B 2.01
(Could be several 
correct answers) 

3.4.C - value of a collection of money
Problem Set: 3

1. 2. 3. 4. 5. 6.

7. 8. 9. 10. 11. 12.

13. 14. 15. 16. 17. 18.

19. 20. 21. 22. 23. 24.

25. 26. 27. 28. 29. 30.





3.4.C - value of a collection of money - PS

13. Marley got the amount below for walking her neighbor’s dog.

What is the value of the coins and bills Marley received? 

A. $8.98

B. $9.00

C. $9.10

D. $8.90 



3.4.C - value of a collection of money - PS

14. Danielle used the money shown to buy a small notebook. 

What amount of money did Danielle use to buy the notebook? 

A. $3.29

B. $3.86

C. $3.57

D. $3.29



15. Rico needs $10.65 to pay for dinner.  Which of these could NOT be the amount that Rico needs to pay for dinner? 

A. 

B. 

C. 

D. 

3.4.C - value of a collection of money - PS



16. Eli spent $5.78 on two drinks for lunch.  Which of these could NOT be the amount Eli spent on drinks?  

A. 

B. 

C. 

D. 

3.4.C - value of a collection of money - PS



17. What amount of money is this? 

3.4.C - value of a collection of money - PS



18. Monica wants to buy a sandwich that costs $8.59.  Circle the coins and bills she needs to pay 
that exact amount. 

3.4.C - value of a collection of money - PS



C B C B 9.83
(Could be several 
correct answers) 

B D D A 6.14
(Could be several 
correct answers) 

A B B D 8.15
(Could be several 
correct answers) 

C B C B 2.94
(Could be several 
correct answers) 

C A D B 2.01
(Could be several 
correct answers) 

3.4.C - value of a collection of money
Problem Set: 4

1. 2. 3. 4. 5. 6.

7. 8. 9. 10. 11. 12.

13. 14. 15. 16. 17. 18.

19. 20. 21. 22. 23. 24.

25. 26. 27. 28. 29. 30.





3.4.C - value of a collection of money - PS

19. Cierra received the coins and bills shown as change from the grocery store. 

What is the value of the coins and bills Cierra received? 

A. $8.53

B. $7.23

C. $8.23

D. $8.57



20. Melvin used the money shown to buy a toy.

What amount of money did Melvin use to buy the toy? 

A. $7.76

B. $6.76

C. $6.87

D. $6.65

3.4.C - value of a collection of money - PS



21. Jacarri emptied out his pockets. He found $2.11.  Which of these could NOT represent the amount Jacarri found in his 
pockets?

A. 

B. 

C. 

D. 

3.4.C - value of a collection of money - PS



22. Carlotta the Cavity Queen spent $6.62 on candy.  Which of these could NOT be the amount Carlotta spent?

A. 

B.

C. 

D. 

3.4.C - value of a collection of money - PS



23. What amount of money is this? 

3.4.C - value of a collection of money - PS



24. Polly wants to buy a colored pen that costs $1.60.  Circle the coins that she needs to pay this 
exact amount. 

3.4.C - value of a collection of money - PS



C B C B 9.83
(Could be several 
correct answers) 

B D D A 6.14
(Could be several 
correct answers) 

A B B D 8.15
(Could be several 
correct answers) 

C B C B 2.94
(Could be several 
correct answers) 

C A D B 2.01
(Could be several 
correct answers) 

3.4.C - value of a collection of money
Problem Set: 4

1. 2. 3. 4. 5. 6.

7. 8. 9. 10. 11. 12.

13. 14. 15. 16. 17. 18.

19. 20. 21. 22. 23. 24.

25. 26. 27. 28. 29. 30.





3.4.C - value of a collection of money - PS

25. Paula paid the amount shown for her share of the snacks she and her friends bought 
together. 

What is the value of the bills and coins that Paula paid? 
A. $3.01

B. $4.27

C. $3.91

D. $2.98



26. Alyssa used the money shown to buy a plant at the flea market. 

What amount of money did Dana use to buy the plant? 

A. $6.31

B. $6.51

C. $6.27

D. $6.31

3.4.C - value of a collection of money - PS



3.4.C - value of a collection of money - PS

27. Larry the Lizard Rancher needs to buy a bag of Lizard Chow.  One bag costs $7.47.  Which of these would NOT be the 
amount Larry needs to buy the Lizard Chow? 

A. 

B. 

C. 

D. 



28. Hannah has saved $8.35.  Which set of bills and coins could NOT be the total amount of money Hannah has saved? 

A. 

B. 

C. 

D. 

3.4.C - value of a collection of money - PS



29. What amount of money is this? 

3.4.C - value of a collection of money - PS



30. Marshall wants to buy a snack that costs $3.88.  Circle the coins and bills that he can use to 
pay that exact amount. 

3.4.C - value of a collection of money - PS



Maybe 2 truths and lie with an amount of money and three different sets of coins/bills. Might 
be easier to just take pictures of real money than make all the scenarios in PPT… 

Maybe fun to make some game cards with pics of real students…

Make cards with different amounts of money – play “21” closest to 21.00 without going over 
wins.  (Good preview of how to add decimals) 


